

## ALLEGATO 2

ESEGUI LE SEGUENTI ESPRESSIONI

➤  $(16 + 20) : 2 + 30 : 6 + (23 - 9) =$

➤  $(25 - 2) \times 11 - 5 + 12 : (2 \times 3) =$

➤  $6 \times (15 - 13) + (17 - 15) \times 2 =$

➤  $3 \times 1 + (8 - 2) \times 1 + 24 : 8 =$

➤  $3 \times (3 + 2) + 11 \times 3 - 16 =$

➤  $[(3 + 7) : 2 + 7] : [(1 + 2) \times 2] =$

➤  $39 - 52 : \{43 - [55 - 7 \times (26 - 24)]\} =$

➤  $84 : \{5 \times [(3 + 12) : 5] - 13\} - 37 =$

➤  $(66 - 21) : [(28 - 25) \times (72 : 3 - 23)] =$

➤  $5 + (3 + 2) \times [2 \times 10 - (37 - 19)] =$

➤  $92 : [2 \times (20 - 19)] - 84 : (23 - 21) =$

